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1 9:30 29 UL BF+| 5km 56| 74| 9:10 9:20
2 (B0 5km 5
3 HEGORR) 5km 9
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5 HEGOR L) 5km 1
6 9:35 INF1EE ZF | 800m 12| 24| 9:15 9:25
7 INS 24 800m | 12
8 10:05 INgALE BF| 2km 14| 471 9:45 9:55
9 INEEG & 2km 17
10 NG 2km 16
11| 10:20 IN$ 4% ZF | 2km 15 47| 10:00 | 10:10
12 IN$S 2km 19
13 INSGEE 2km 13
14| 10:35 hg 4 2F| 3km 30 73| 10:15 | 10:25
15 2 3km 39
16 34 3km 4
17| 10:55 h ] 4F ¥ | 3km 24| 54| 10:35 | 10:45
18 24 3km 20
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20 298 LI T 3km 5
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23 INgE2 4 800m | 13
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25| 11:25 INFBEE BEF | 1000m 71 70 11:05 | 11:15
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